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= 3 HE XSS S Chol: SO
HE % 2 = £ J =
_ 2o HIS (%) =9 bl
A2 2 5] At 246.06 | 0. 172.66 | 0.
2IXE el OHSAER A (FA) T 9.17 | o. 75.61 | o.
IS Rel SRS KA S (FA) 287.44 | 0. 166.24 | 0.
2L EB2l0 S A SRS (FA)H 3.81 | o. 3.33 | o.
cHXE D20 SR S XA (FA) S 6.31 | o. 4.42 | o.
BN ERelOEASE RS (FA) S - -
N N E 1.83 | o. 1.64 | 0.
BOHSIAL [2tRE DElOtE A ERHAIE (F4) S 0.12| o. 0.15 | 0.
2HXE D20t S A S XA (F4) 0.14 | o. 0.10 [ o.
IS DRel SRS RS (FA) 29.98 | 0. 41.58 [ 0.
N N E 0.10 [ o. 0.33 | o.
2 X ED2I0HE
AEYE) 2XEDRISAERAUE(FA) T 0.74 | 0. 0.64 | 0.
cHXE D20 SR S XA (FA) S 0.80 [ o. 0.72 | o.
N e 2.05 [ o. 1.54 | 0.
HETHAE 2E3) AH( A ET Y XL 12.30 [ 0. 8.63 | O.
ZEtAIR 22| 3 AL 8.79 | 0. 6.17 | 0.
24 8 694.63 | 2. 483.76 | 2.
DI EHHI Z#+ 1.64 | 0. 1.44
CH=0H0H. S0 =2 21.00 | 0. 115.63
soas _ [ENEHES S NBlx 2aE 26.89 | 0. -
8| 47.89 | o. 115.63
=2 NN A 120.91 | 0. 230.21
» HCOl &1 W) Yl Bl
*« J|EHI 20| MBI, Z2 SOl OIS L ZHUIE S HEUN Z4F.p=x02 HIZoRA OHOH-
S 425 FMels ALIC
% S HLAIE 218




> ESHIE HI= (CHol: oIshat, %)
e HE AEE HIE it
HE HEA 22
ZE84H2 | OH0H-ZH2% _ ZE94HE | HOH-ZH |
sem | czueE | G [ Thsn |szuseE | 2NN
AXEDRIOIEAEXAIE 'SPl 0.00 0.13 0.14 0.00 0.13 0.14
(Fa)2e =] 0.00 0.47 0.47 0.00 0.47 0.47
=2 (class)d 8 &
2HXEDRIOIEAE XAl E 'SPl 1.76 - 1.76 1.77 0.14 1.90
(F=A)22UAA =) 1.76 - 1.76 1.77 0.60 2.36
2 EDRIOIEAE XA E 0| 2.26 - 2.26 2.27 0.14 2.40
(F=2A) 22201 =9l 2.26 - 2.26 2.27 0.31 2.58
2XEDRIOIESAERAIE 0| 1.26 - 1.26 1.27 0.14 1.40
(Z=a)ZefAc-| =9l 1.26 - 1.26 1.27 0.60 1.87
AXEDRIOIESRAEXAIE Sp) 1.26 - 1.26 1.27 0.14 1.40
(=2A) 22 ACe =9l 1.26 - 1.26 1.27 0.57 1.84
AKX EDRIOIESAEXAIE Sp) 0.76 - 0.76 0.77 0.10 0.87
(A2 ACH =l 0.76 - 0.76 0.77 0.59 1.36
AXEDRIOIE A EXAIE 'SPl 1.43 - 1.43 1.43 0.14 1.57
(Z=2)ZeHAc-P =9l 1.43 - 1.43 1.44 0.61 2.05
AXEDRIOIESAEXAIE 'SPl 1.41 - 1.41 1.41 0.14 1.55
(F=a)2eHAC-P2 =) 1.41 - 1.41 1.41 0.73 2.14
K BRI Ol A E K Al 0| 0.96 - 0.96 0.96 0.13 1.10
(F=A)BeHAS-P =) 0.96 - 0.96 0.97 0.61 1.57
X EDRIOIESAE XA E Sl 2.14 - 2.14 2.14 0.14 2.28
()@ 2ce =9l 2.14 - 2.14 2.14 0.61 2.75
X EDRIOIESRAEXAIE 0| 2.01 - 2.01 2.01 0.14 2.15
(=a)224AC3 =9l 2.01 - 2.01 2.02 0.87 2.89
2IRIE TR 0= HE XA E & 1.89 - 1.89 1.89 0.14 2.03
(EXPEEENV =] 1.89 - 1.89 1.89 0.59 2.48
2IAIE BRI 0= A E R AIE & O] 1.76 - 1.76 1.76 0.14 1.90
(FA)2HA05 =5] 1.76 - 1.76 1.77 0.62 2.38
2 KEDCIOISHERAE & | 111 - 1.11 1.12 0.14 1.25
(F=2)2eiAS =] 1.1 - 1.1 1.12 0.59 1.70
=1) £2<, HI&H|2(Total Expense Ratio)0|gt 2284 S HEWAM 2L 249 JEHHISEUS =Xo AE
TH(EHE2 U2H JE)2Z L= HES2AH 1Y 28II12t & EXADL B8 E24-H 2422 LEHELIC
=2) HOH-ZH =22 HIS0I2 HOH-ZH2L2E X4 HEIH(B2.HI2 It JIE)C2 U= HISZAM g
28J12t & EXAIF RS WH-SMHe422 £F=2 LIEFYLICH
=3) PR HL DHONA LM HES NHHCEIL XASts HISHE =510 BHASH 2XILICH




> OHOHF=ARE & FN= () = worel %)
SINEBRIOSHUEXAMEN(FA) 28
il 7S o = RS
&> =2 o &> = o HEo| 2t o 3 AL
859,373 18,693 3,573,660 76,757 79.51 315.47
F1) g2t & W8 FAD = Y 28It & ERst =4 o=z L= Hls

» X=2320] OHOHSI A

M0

(EF9l:

2016.01.01 ~ 2016.03.31

2016.04.01 ~ 2016.06.30

2016.07.01 ~ 2016.09.30

37.13

18.34

28.63

=) HOHSI M 8O0l =2 Z< HOHHN ==

T= BE HIZ0l SOtELILH

Z(0.1%LH2) & SHAMHAH(OHE Al 0.3%)

CZ M FXXI 6
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